
lnx=e x+4
H

as
 a

 r
oo

t b
et

w
ee

n
0.

7
an

d
0.

8

Has a root between−
2and−

1.5

lnx
=
1
x

Has a root between 1.71 and 1.72

x
2−x−20=0

Has a root between0.5and0.6(in
Rad

ian
s!)

3x
3−

2x−
6=

0

Has a root between 8.5 and 9.5

−x
3+3x

2−1=0

H
as

 a
 r

oo
t b

et
w

ee
n 

1.
4 

an
d 

1.
45

Has a root between 0.2 and 0.3

Has a root between 1.45 and 1.5

Has a root between−4 and−3.5

1 2x+
4
=

0
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Has a root between−4 and−3

x2
−

3x
+

1
=

0

x4
−3x2

=0

x+l
nx=

−1

H
as a root betw

een
2.5

and
2.7

x−9=8

H
as

 a
 r

oo
t b

et
w

ee
n
−

9 
an

d
−

7

x2
−35=

0

x
−1 +sin

x=0

H
as a root betw

een 2 and 2.5

Has a root between 0.6 and 0.7

x
3−

3x−
5=

0

e x=lnx+5

Has a root between1.75 and 1.85

H
as

 a
 r

oo
t b

et
w

ee
n

-5
 a

nd
-4

(i
n
R
ad

ia
ns

!)

Has a root between5 and 6

x
3 +60=

0

x+
sin

2x=
−

4

x
3

−cosx=0

Has a root between4and5

e
−
x =

x2
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